Solutions Review Sheet
Quantitative Chemistry

Date

For the problems, be sure to show your work, and use significant figures!

1.

2.
o 0.9
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3. Complete the table with the following equations. Know these‘

Define the following in your own words:

a. Solution -
b. Solute —

c. Solvent -
d. Soluble -

e, Saturated -

f. Unsaturated —

g. Concentrated —

h. Dilute -

Complete the chart below related to the compounds and their solubility in water.

Compound Type of Bond Is it soluble in water?
(Ionic, PC, NPC)
NaCl Ne-C| WEW= | D.9- 3.0\ = 2]

-I-OV'\ v 36’5

CH:  C-w |pEwz\2-5-2-\704
NPC Mo

CH,0O < e-0 |AEN=\2.S-3 5|z 10
P 2es

ﬁ%c R AENz | 2. 2- t1-D»f-{
ai Doecat mabtes b/ﬁ, - e ?e:-\a»f

Percent by Mass

Percent by Volume

Molarity

Dilution

Ve 3.

grams, how many grams of hydrogen peroxide are in the bottle?
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5. What is the molarity of a 2.00 L solution containing 0.15 moles of solute?
M = O.\S wmol
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6. How many grams of FeCl, are needed to make 100. mL of a 1.00 M solution?
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Briefly describe how you would prepare the above solution using a 100-mL volumetric flask.
\) Add 1&- 1% Felly Yo & \ﬁ)\-«.%'\‘v-.g_a-\%k

2) kdd weler ¥ disgelve b

37> ol woille, toades dp  Mae coals \cafmkga-\ M.kr(g
7.

A stock solution contains 1.0 M silver nitrate. If you wanted to prepare 300. mL of 0.10 M silver
nitrate, how many milliliters of the stock solution would you use?
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8. How many milliliters of 0.500 M K1 are needed to react with 25.0 mL of 0.100 Pb(NO,),
2KI + Pb(NO,), >

_ Pbl, + 2KNO,
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9. Copper reacts with silver nitrate according to the following reaction

Cu + 2AgNO, 2 2Ag + Cu(NO,),

a.. If 1.7 grams of copper are added to 100. mL of 0,10 M silver nitrate, what is the limiting
reactant?
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b. How many grams of silver would be produced? '
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